
MOUIN_PFW6850_V4

Max: 30kg/66lbs

PFW 6850
Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, 
Guide d’Installation, Installatie gids

95V0-000-015-0X v3.0
publ. 03/05/19

PFW 6850
 Installation Guide

Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

www.vogels.com  |  Europe  +31 (0)40 26 47 400



INCLUDED COMPONENTS

TOOLS FOR INSTALLATION

5/16” x 3” Lag Bolts  
(Qty 4)

Green Level 
(Qty 1)

Universal Spacers  
(Qty 8)

5/16” Flat Washers  
(Qty 4)

Universal Washers  
(Qty 4)

Depth Measuring Straw 
(Qty 1)

10mm Socket
(Qty 1)

M4 Allen Key 
(Qty 1)

M2.5 Allen Key 
(Qty 1)

Finned Anchor 
(Qty 4)

Pencil Protective EyewearElectronic Stud Finder M6 or 1/4” Wood Drill Bit 3/8” Concrete Drill Bit

Portable Drill HammerPhillips Head ScrewdriverLeveler Socket Wrench13mm or 1/2” Socket

Wall Mount
(Qty 1)

Template 
(Qty 1)

M8 x 16mm

M6 x 25mm

M6 x 16mm

M8 x 25mm

(Qty 4)

(Qty 4)

(Qty 4)

(Qty 4)

PFW 6850

www.vogels.com  |  Europe  +31 (0)40 26 47 400Page 2

Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

www.vogels.com  |  Europe  +31 (0)40 26 47 400
Page 2



PFW 6850
Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

! CHANGING THE DEFAULT SWINGOUT PIVOT POSITION

M2.5 Allen Key

Left
(default) Right

1

3

4

Loosen the eight flat screws to disengage 
the upper and lower chassis.

Put together the mount after 
adjusting the swing pivot position 

and recap the plastic plugs.

Fully tighten all hardware 
before hanging the mount.

2

Loosen the set 
screw (top and 

bottom)

Plastic 
plugs

OPTIONAL:

PFW 6850

www.vogels.com  |  Europe  +31 (0)40 26 47 400 Page 3

Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

www.vogels.com  |  Europe  +31 (0)40 26 47 400 Page 3



PFW 6850 
Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

1

2

Find the center of the wood studs
and mark the wall with a pencil

Position the template to the desired 
location.

Drill into 4 marked mounting points 
on the wall surface. 

Wood Application:
Use 1/4” drill bit
 
Concrete Application:
Use 3/8” drill bit

FOR CONCRETE APPLICATIONS SEE PAGE 6

TAPE THE TEMPLATE

LEVEL

Stud 
Finder

PFW 6850

www.vogels.com  |  Europe  +31 (0)40 26 47 400Page 4

Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

www.vogels.com  |  Europe  +31 (0)40 26 47 400Page 4



PFW 6850
Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

3

4

LOOSEN THE (2) M5 FLAT SCREWS TO 
REMOVE THE BRACKET MOUNT PLATE

DETACH THE CABLE ACESS COVERS
TO EXPOSE THE MOUNTING LOCATIONS

PFW 6850

www.vogels.com  |  Europe  +31 (0)40 26 47 400 Page 5

Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

www.vogels.com  |  Europe  +31 (0)40 26 47 400 Page 5



PFW 6850
Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

5

Wood Application Concrete Application

LEVEL

LEVEL
43

21

(4) 5/16” x 3” Hex Lag 
and (4) 5/16” Washers

Finned Anchor (supplied) 
for concrete only

Use 3/8” Concrete 
Drill Bit

Use 13mm or 
1/2” Socket

Wood Studs

Confirm the placement of the mounting screws before bolting into place.

PFW 6850

www.vogels.com  |  Europe  +31 (0)40 26 47 400Page 6

Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

www.vogels.com  |  Europe  +31 (0)40 26 47 400Page 6



PFW 6850
Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

6

7

Small Straw or Toothpick

Marking the 1/8” 
Allowance

Small Straw  
or Toothpick

Small Straw  
or Toothpick

Depth Plus 1/8” Allowance
Mark

Depth Plus 1/8” Allowance
Mark

1) Insert a small straw or toothpick into the threaded inserts found on the 
back of the flat-panel.

2) Use a pencil to mark the depth of the threaded insert on the small straw 
or toothpick.

3) Mark the straw or toothpick 1/8” above the depth of the threaded insert, 
as shown in Figure 1.

4) Insert the small straw or toothpick into the remaining threaded inserts 
to compare and verify their depth using the straw or toothpick’s 1/8” 
allowance mark.

5) Locate the correct diameter screw for the threaded insert. 

 If the screw you selected is longer than the 1/8” allowance mark on 
the small straw or toothpick, as shown in Figure 2 and Figure 3, do 
not use this screw. The screw length must not bypass the mark.

6)   Test each size of the screws provided.  
The correct screws should thread easily into themounting point and 
not pull out when tension is applied.

Selecting the Mounting Hardware

1

2

FASTEN USING (2) M5 FLAT SCREWS TO 
SECURE THE BRACKET MOUNT PLATE

PFW 6850

www.vogels.com  |  Europe  +31 (0)40 26 47 400 Page 7

Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

www.vogels.com  |  Europe  +31 (0)40 26 47 400 Page 7



PFW 6850
Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

8

M8 
M5, M6 
M4

x4

INSTALL THE MOUNTING BRACKETS

USE ADDITIONAL UNIVERSAL SPACERS TO FILL UNEVEN GAPS

Longer screws length (commercially available) 
might be needed if using spacers. 

Directional arrows on 
the brackets pointing up

TOP OF 
FLAT PANEL

1˝ ¼˝

Selected the mounting 
screws (from previous step) 

Universal Washers

C/L

C/L

PFW 6850

www.vogels.com  |  Europe  +31 (0)40 26 47 400Page 8

Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

www.vogels.com  |  Europe  +31 (0)40 26 47 400Page 8



PFW 6850  
Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

9

10

HOOK THE DISPLAY BRACKETS 
TO THE MOUNT

POST-LEVELING
(RETRACTED POSITION)

Post leveling control 
adjustment screws.

Tighten these screws to 
lock the brackets in place.

Center the display 
to the mount

PFW 6850

www.vogels.com  |  Europe  +31 (0)40 26 47 400 Page 9

Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

www.vogels.com  |  Europe  +31 (0)40 26 47 400 Page 9



PFW 6850
Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

11

12

Use 10mm deep 
socket to adjust 

the tension

Use 2.5mm hex key 
to adjust the tension 
near the pivot.

Do not over tighten.

TILT 
ADJUSTMENT

ROUTE POWER AND SIGNAL 
ALONG THE MOUNT

PFW 6850

www.vogels.com  |  Europe  +31 (0)40 26 47 400Page 10

Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

www.vogels.com  |  Europe  +31 (0)40 26 47 400Page 10



PFW 6850
Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

13

14

INSTALL THE CABLE COVERS 
AND MOUNTING COVERS

RETRACTED OR
EXTENDED 
POSITION

SECONDARY POST LEVELING ADJUSTMENT

±3° 
Adjust.

Pivot

PFW 6850

www.vogels.com  |  Europe  +31 (0)40 26 47 400 Page 11

Installation Guide
Installationsanleitung, Guía de Instalacíon, Guida de Installazione, Guide d’Installation, Installatie gids

www.vogels.com  |  Europe  +31 (0)40 26 47 400 Page 11


